367

Time

IT-01
June - Examination 2016
B.Sc/BA Pt. | Examination
Introduction to Computer Science
Paper - IT-01

: 3 Hours ] [ Max. Marks :- 70

Note:

fAder :

Note:
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The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

Ig U9 ‘31, ‘¥ @R ‘@’ o wuel ® fgwiiia g1 ve
Gug & MEATTAR Ul T IR ST

Section - A 7%X2=14
(Very Short Answer type Questions)

Answer all the questions. As per the nature of the
guestion delimit your answer in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.
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1) (i) Whatis scanner?

FHR T 8 2

(i) What is memory?
AR T 2 ?

(iii) Write the full form of ISDW?
ISDW @1 quf 9 forlRe |

(iv) What is ISP in computer?
FFRICR | ISP ¥ AT T FHSH ¢

(v) What is E-Commerce?

$-pigd T g7

(vi) What is briefcase in Computer?

PR T sithebsT AT BT &2

(vii) What is MIS?
MIS T 2?2

Section - B 4 x7=28
(Short Answer type Questions)
Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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Write the difference between Software and Hardware?

AlFeRR 3R AR B &I heh I8 |

Explain the three input devices of computer?
fop=gt i SYe fearssl & IN § Ja1=y)
Discuss the BCD codes and UNICODE?

BCD ®Igd 3R I higd & IR H qamsyl

Discuss any two features of window operating system?

faust TR River & foegl Q0T & IR & AT

Discuss the E-Cash and E-cheque.

E-h9T 3R E-<ep & IR H §dTsu|

What is Data Communication? Write the names of modes of
communication.

SCT HRYFDBAT FIT g ? HRADe & AIgH &b 1 syl
What is Search Engine? Write the three names of Search
Engine.

T 5o a7 g ? foprgl o9 I $o19 & A1 IaTsu|

Write the difference between encryption and De-cryption?

Encryption 3fR Decryption & &9 3fcR () Farsd|
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Section-C 2X14=28
(Long Answer Questions)

Note: Answer any two questions. Each answer should not
exceed 500 words. Each question carries 14 marks.

(Tvs - W)
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fAder : gl g gl & IR SIVTTI 3T 319+ SR BT 31fhdd 500
gegl B gRAIT BT g1 IS U 14 (Tigg) 3iadpl & gl

10) Explain the generations of computers in detail.
HYR D UIfed! 1 fadRyelep quie I

11) Explain the input and output devices in details?
$TYC 3R 3MScyc fearss! &1 fRaRyd® v Hifsl

12) Explain the internal and external dos command in details.
AR IR T fs¥p ATRICT PHUGH DI fRARYdSD Ui
HIfTT

13) Explain the Electronic Payment system in details.
Electronic Payment fRi%cH &1 fawaRydes guiq i
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